XX (U—6)Yvh—K& (F)
(FR+E)

133':'_"3 FCHEANA 4TIV LE =My I—X JSC&YU A—A+2az=7
FCHEANA (0 — 7) (1 —3) (6 —0) (3 —5)
4TIV LYN (7 —0) (6 — 2) (8 —0) (8 — 1)
Bty I—X (38 —1) (2 —6) (7 —0) (38 — 1)
JSC&YU (0 — 6) (0 — 8) (0 — 7)) (0 — 5)
A—AR+2a2z=7 (5 — 3) (1 —8) (1 —3) (5 —0)

zg:':'_"l? AFATIN VAR - MFA &MA FCEvILYY FCHRZRSVE 4Ty 41—
1F4TINVAVE — (6 —0) (7 — 1) (6 —0) (6 —0)
MFA &MA (0 — 6) (1 — 2) (1 — 3) (2 — 3)
FCE¥viLY> (1 —17) (2 —1) (38 — 1) (6 —3)
FCREIVF (0 —6) (38 — 1) (1 —3) (2 — 4)
14Ty M41n- (0 — 6) (3 —2) (3 — 6) (4 — 2)




